The shop has 112 cowboy hats
and 83 pirate hats. How many
hats does the shop have in all?

Isaac has 16 juices and 12
waters for a party. How many
drinks does Isaac have in all?

Kate has 42 sweets. Ana has 28
sweets. How many sweets do
the girls have?

Zoe spent 200 minutes playing
the piano. She spent 70 minutes
playing the flute. How many
minutes did Zoe spend playing
the piano and flute?
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Hannah counted 700 buttons

on Monday. She counted 300
buttons on Tuesday. How many
buttons did she count altogther?

The shop has 195 cowboy and
pirate hats. 112 are cowboy hats.
How many are pirate hats?

Jordan went to the pet shop.
He saw 31 birds and 27 bunnies.
How many birds and bunnies
did he see in all?

Kate and Ana have 56 sweets.
Kate has 13. How many does
Ana have?
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There are 85 books in the
library. 34 are fiction. How many
are non-fiction?

The school has 500 kids. 307 are
girls. How many are boys?

Abby has 80 colored and clear
balloons. If 60 are colored, how
many are clear?

Jenny picked 70 fruits. 56 are
oranges. How many are apples?
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The shop has 112 cowboy hats,
83 pirate hats, and 95 baseball
hats. How many hats are there
in all?

Tess and her friends picked
flowers from her garden. Tess
picked 116 flowers, Vera picked
83 flowers, and Paige picked 55
flowers. How many flowers did
they pick in all?

Kate and Ana want to bring a
sweet for each of their
classmates and teachers. There
are 48 boys, 55 girls, and 6
teachers. How many sweets do
they need to bring?

Rosie got stickers from her
teacher. She got 17 red stickers,
13 purple stickers, and 5 green
stickers. How many stickers did
Rosie get in all?
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Jenna drew 10 hearts, 5 stars,
and 5 circles. How many shapes
did Jenna draw in all?

The shop has 112 cowboy hats
and 83 pirate hats. How many
more cowboy hats does the
shop have than pirate hats?

Noah has 65 toy trucks, 100 toy
trains, and 72 toy action figures.

How many toys does he have in
all?

Kate has 42 sweets. Ana has 28
sweets. How many more sweets
does Kate have than Ana?
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John caught 50 fish. Will caught
35 fish. How many more fish did
John catch than Will?

The spring term is 110 days. The
fall term is 90 days. How many
fewer days are in the fall term

than in the spring term?

On Monday, Isaac earned $55.
On Tuesday, he earned $30.
How much less money did he

earn on Tuesday than on
Monday?

The library has 42 fiction books
and 62 non-fiction books. How
many fewer fiction books are
there?
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The shop has 29 more cowboy
hats than pirate hats. If there

are 83 pirate hats, how many

cowboy hats are there?

There are 36 more friends in

the sea than in the pool. If 56
friends are in the sea, how many
friends are in the pool?

Kate has 103 more sweets than
Ana. Ana has 75 sweets. How
many sweets does Kate have?

Julian won 43 games last year.
If he won 26 more games this
year, how many games did he
win this year?
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Thomas and Luke had a

basketball game. Thomas scored

42 more points than Luke. Luke
scored 36 points. How many
points did Thomas score?

The store has 29 fewer police
hats than fireman hats. If there
are 112 fireman hats, how many
police hats are there?

Anne has 32 more pencils than
Kayla. Kayla has 28 pencils.

How many pencils does Anne
have?

Ana has 87 fewer sweets than
Kate. Kate has 200 sweets.

How many sweets does Ana
have?
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Sam won 4 fewer gold medals
than silver medals. Sam won 13
silver medals. How many gold
medals did he win?

Liam has 15 fewer apples in one
basket than in a second

basket. The second basket has
28 apples. How many apples are
in the first basket?

Ben has 202 fewer stickers on
the first page of his sticker book
than on the second page. The
second page has 529 stickers.
How many stickers are on the
first page?

At the park, there were 36
fewer kids playing on the
swings than on the slides. If
there were 56 kids on the slides,
how many kids were playing on
the swings?
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The store had some hats. Then,
they sold 45 hats. Now, they
have 32 hats left. How many
hats did the store start with?

Tony baked some pies in the
morning. Then, his family
brought over 8 pies. Now, he
has 13 pies. How many pies did
Tony bake?

Kate brought some sweets to
school. Then, Ana gave her
157 more. Now, Kate has 237
sweets. How many did Kate
start with?

Abby had some balloons. Then,
20 popped. Now, Abby has 60
left. How many balloons did
Abby have at first?
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Juan had some money. Then, he
sold lemonade and made $25.
Now, Juan has $55. How much
money did Juan have at first?

The store had 195 hats. Then,

they sold some. Now, they have
83 hats left. How many hats did
they sell?

Sophie brought some marbles to
school. Then, she gave Jack 237
marbles. Now, Sophie has 157
marbles. How many marbles did
Sophie start with?

Kate brought 50 sweets to
school. Then, her friends gave
her more. Now, she has 79
sweets. How many sweets did
her friends give her?
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Emma read 500 pages in her
book. Then, she read more
pages. Now, she has read 730

pages. How many more pages
did Emma read?

Miguel had 12 fish in his fish tank.

Then, he got more fish. Now, he
has 36 fish in his fish tank. How
many fish did he get?

Maya got 79 rocks at the shop.
Then, she gave some to her
friend. Now, she has 65 rocks.

How many rocks did she give to
her friend?

Abby had 70 blocks. Then, some
fell. Now, she has 30 blocks.
How many blocks fell?
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The store had 112 hats. Then,
they sold 83 hats. How many
hats are left?

Jason raised $167 for charity.
Then, he raised more money. If
he has raised a total of $300,
how much more money did he
raise?

Kate and Ana brought 45
sweets to school. Then, they got
29 more from their friends. How
many sweets do Kate and Ana
have now?

Lily bought 18 toys, then she
gave 5 toys to her friend. How
many toys does Lily have now?
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Aiden had 15 pencils. He got
/ more pencils from his friend.
How many pencils does Aiden
have now?

There were 24 polar bears and
38 penguins swimming in the
ocean. 15 polar bears got out
of the water. How many polar
bears and penguins are still in
the water?

There were 56 people swimming
in the sea. Then, 36 people left
to sit on the sand. How many
people are still swimming?

Kate brought 62 sweets to
school. Then, she got 49 more
from a friend. Kate decided to
give 37 sweets to her

family. How many sweets does
Kate have now?
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I made 46 blue water

balloons and 59 red water
balloons. I also made 25 yellow
water balloons. How many more
combined blue and red water
balloons did I make than yellow
water balloons?

Emma had 18 cookies in the
cookie jar. Then, she ate 6 of the
cookies. She also gave 6

cookies to her friends. How
many cookies are in the jar now?

There were 83 adult penguins
and 69 baby penguins playing
on the hill. Then, 55 penguins
went home. How many penguins
are still playing on the hill?

Megan made $14 for babysitting
and $18 for folding laundry.
Leanne made $9 for sweeping
the garage. How much more
money did Megan make than
Leanne?
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